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7?7 "ascii-keyer.py v 1.2" (c) 2022 Yukihisa Aida, JASFP
A python script, reads stored text file, converts it’s ascii characters to adaptive morse-cod

then keys on/off CWW transmitter by these symboles stream.

Hard ware requires a RaspberryPi computer and a tiny circuit to drive keyer of transmitter.
Usage is simple, import "info.txt" file or type-in your own message on the script.

If you need to change keying speed or message, edit "wait" value or "message" text.

Word spacing is set to 5 dots length (not fit regular code standard as 7 dots length).

Befor using, type "sudo pigpiod" to use library.

# coding: utf-8
#!/usr/bin/env python
import os



import time

import pigpio

#KEING SPEED in second of dot
dot=0.1

#MESSAGE to send
with open('neko.txt") as source: # message from file
message = source.read()
#fmessage = 'CQ CQ CQ de JASFP JASFP JASFP k’ # own message
#message = ' E—INVALEB VY ITVVIN RV LIAVRAS TV NHTNVE—NVATITT
EFAFTLNFTFA]

pi = pigpio.piQ)

pi.set_mode(17, pigpio.OUTPUT) # keyed TTL at pinll
pi.set_mode(18, pigpio.OUTPUT) # keyed tone at pinl2
MORSE_CODE = {’A’:’-+’, 'B’:’+-==", ’'C’:’+-+=", 'D’:’+--", ’E’:’-’,
B R e I« M R i MR = =
K774+, LT 4=, M, N+ 0
P47, QT+, R+ S T+
U, OV ) W, X1, Y e, T
1T e, P27 T, P37 ) 4 e S 7,
R e A R R o B e M i
chr(10):’L’, chr(32):’S’, chr(33):’+-+-++’, chr(34):’-+--+-",
chr(36):’ --——+--+’, chr(38):’-+---", chr(39):’-++++-’, chr(40):’ +-++-',

chr(41) :’+-++-+", chr(42):’+-++-+’, chr(43):’-+-+-", chr(44):’ ++--++’,
chr(45):’+----+’, chr(46):’-+-+-+’, chr(47):’+--+-", chr(58): +++---’,
chr(59):’+-+-+-’, chr(61):’+---+’, chr(63):’--++--", chr(64):’ -++-+-",
chr(91):’+-++-’, chr(93):’+-++-+’, chr(95):’ --++-+’,
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’ (1:1+_++_+1, ’> 1:’_+__+_!’ y\

def main(Q):
while True:

print(message + chr(10))

length = len(message)

i=20

while length:
code = MORSE_CODE[message[i].upper()]
print (message[i].upper(), end=’’)
for cipher in code:

if(cipher == +’):
pi.write(1l7, True)

—+—+-+’

# dash

pi.hardware_PWM(18, 880, 500000)

time.sleep(dot*3)

pi.write(17, False)
pi.hardware_PWM(18, 0, 0)
time.sleep(dot)

10y
pi.write(17, True)

if(cipher ==

# dash length 3:standard 2:2dots

# tail length
# dot

pi.hardware_PWM(18, 880, 500000)

time.sleep(dot)
pi.write(17, False)
pi.hardware_PWM(18, 0, 0)
time.sleep(dot)
if(cipher == ’S’):
time.sleep(dot*0)
time.sleep(dot*2)
i+=1
length -=1
time.sleep(10)
print(chr(10) )

print("FFF DKL FF,  wEET)
if __name__ == "__main__":
main()

# dot length wait:standard

# tail length

# word separation 0:5dots 1:6dots 2:7dots

# character separation wait*2:standard

# seconds for next transmit.



